BpZ4 Spare parts for:
o

¢ Espresso coffee machines

Filter holders for
coffee machines

- Portafilters for coffee machines

This catalogue is automatically generated.
Therefore, the sequence of the items might
not be always shown at best.

Updates will be issued in case of additions
and/or amendments.

Rel. 2015-05181343




\K){ }/‘(‘

Filter holders for coffee machines

BARLEY PODS FILTER HOLDERS

BOTTOMLESS FILTER HOLDERS

1165166 | Astoria / CMA | 5.0 mm
1165151 Cimbali 8.0 mm
1165167 Dalla Corte 8.0 mm
1165152 Faema 6.4 mm
1165153 Futurmat 6.8 mm
1165158 Gaggia 6.5 mm
1165154 | Nuova Simonelli | 7.0 mm
1165155 Rancilio 6.0 mm
1165159 San Marco 8.0 mm
1165160 Spaziale 8.4 mm
1165156 Vibiemme 6.0 mm
1165157 Wega 6.5 mm

|

- e
- *

1165034 | Astoria / CMA | 6.0 mm No -—=
1165117 | Astoria / CMA | 6.5 mm No Plus 4 you / Concept
1165181 Bezzera 5.8 mm Yes So=
1165035 Brasilia 5.5 mm Yes -—=
1165038 Carimali 6.0 mm No o=
1165182 Cimbali 5.5 mm Yes -—
1165039 Conti 8.0 mm No So=
1165119 Dalla Corte 9.0 mm No -—=
1165192 Expobar 6.2 mm Yes o=




Filter holders for coffee machines

LF Code Suitable for Wings | Adapter filter for pods Notes
1165183 Faema 7.2 mm Yes -—=
1165184 Futurmat 7.2 mm No So=
1165185 Gaggia 6.6 mm No -—=
1165194 Grimac 7.0 mm Yes o=
1165186 Marzocco 6.5 mm Yes -—=
1165086 Marzocco 6.8 mm Yes So=
1165118 | Nuova Simonelli | 7.0 mm No Slanted body / Corpo inclinato
5030988 Pavoni 5.6 mm Yes s
1165187 Rancilio 6.2 mm Yes -—=
1165185 Saeco 6.6 mm No So=
1165191 San Marco 7.0 mm Yes -—=
1165193 Sanremo 6.4 mm Yes -—=
5050620 Spaziale 6.0 mm Yes -—
1165188 Vibiemme 6.2 mm Yes So=
1165189 Wega 6.4 mm Yes -—=

FILTER HOLDER ASTORIA/CMA

f oot g 15

1 ORIGIMNAL 3 ORIGIHNAL o
Photo | LF Code | Wings | Knob | Spouts | Filter |Spring Suitable for For machine model
1 1165076 | 7 mm | M12 3/8 NO NO |ASTORIA/CMA 27311056/CALYPSO - PLUS4YOU
2 1165116 | 7 mm | M12 3/8 NO NO |ASTORIA/CMA 27311056/CALYPSO - PLUS4YOU
3 1165079 | 7 mm | M12 3/8 NO NO |ASTORIA/CMA 27311057|CALYPSO - PLUS4YOU
4 1165115 | 7 mm | M12 3/8 NO NO |ASTORIA/CMA 27311057|CALYPSO - PLUS4YOU
5 1165114 | 7 mm | M12 3/8 NO NO ASTORIA/CMA CALYPSO - PLUS4YOU

FILTER HOLDER BEZZERA

W PO JW ¢

1 2 2 4
Photo | LF Code | Wings |Knob | Spouts | Filter |Spring Suitable for For machine model
1 1165006 | 6 mm | M12 3/8 NO NO |BEZZERA 5286001CM B2000 - B2006 - B2009
2 1165061 | 6.3 mm | M12 3/8 NO NO BEZZERA 7479930 Bz07 - GALATEA - GIULIA - UNICA
3 1165131 | 5.5 mm | M12 3/8 NO NO |BEZZERA 5286016TWBz07 - Bz09 - Bz10 - Bz1l3 - B2013 - B6000 - GALATEA
4 1165128 | 5.5 mm | M12 3/8 NO NO |BEZZERA 5286011CM B2000AL - B2006AL




Filter holders for coffee machines

FILTER HOLDER BFC

1 . 3 4

1 1165300 | 6.3 mm | M12 3/8 7 gr YES BFC ALL MODELS - TUTTI I MODELLI
2 1165301 | 6.3 mm | M12 3/8 14 gr YES BFC ALL MODELS - TUTTI I MODELLI
3 1165061 | 6.3 mm | M12 3/8 NO NO BFC 4650100 ALL MODELS - TUTTI I MODELLI
4 1165064 mm | M12 3/8 NO NO BFC 4650108 |ALL MODELS - TUTTI I MODELLI

FILTER HOLDER BIANCHI

\f’ﬁ e/ﬁ/

1 1165110 | 6.3 mm | M12 3/8 NO NO |BIANCHI 12047711 SARA - SOFIA
2 1165111 | 6.3 mm | M12 3/8 NO NO |BIANCHI 12047721 SARA - SOFIA
3 1165064 | 6.3 mm | M12 3/8 NO NO BIANCHI SARA - SOFIA
4 1165113 6 mm M12 3/8 NO NO BIANCHI 12049210 LUCIA
5 1165112 6 mm M12 3/8 NO NO |BIANCHI 12049310 LUCIA
- i'l:j = _ ! W
o
1 2 3 4
1 1165003 7 mm M12 3/8 NO YES |BRASILIA 06396.8.00.09| CENTURY - PORTOFINO - GRADISCA
2 1165022 7 mm M12 3/8 NO NO BRASILIA 21666.0.10.04| CENTURY - PORTOFINO - GRADISCA
3 1165103 | 5.2 mm | M12 3/8 NO NO |BRASILIA 06668.8.00.09|FIRENZE - PORTOFINO - ROMA - 105
4 1165098 | 5.2 mm | M12 3/8 NO NO BRASILIA 05016.8.00.09|FIRENZE - PORTOFINO - ROMA - 105




Filter holders for coffee machines

FILTER HOLDER BRUGNETTI/AURORA

- -

i3';* - = !

1 2
1165022 | 7 mm | M12 3/8 NO NO BRUGNETTI 000047 ALL MODELS - TUTTI I MODELLI
1165088 | 6.8 mm | M12 3/8 NO NO |BRUGNETTI 000047.57 ALL MODELS - TUTTI I MODELLI (NEW)
FILTER HOLDER CARIMALI

CARIMALI 22.00804.CR/ALL MODELS - TUTTI I MODELLI

3/8 NO

i 1165011 | 6 mm | M10

FILTER HOLDER CASADIO

DIECIA - DIECIS - DODICIA - DODICIS - VENTI
DIECIA - DIECIS - DODICIA - DODICIS - VENTI
DIECIA - DIECIS - DODICIA - DODICIS - VENTI

YES YES |CASADIO 958577020
YES YES |CASADIO 958578020
CASADIO 457355007

1165096 | 6.3 mm | M10 3/8
1165097 | 6.3 mm | M10 3/8
1165065 | 6.2 mm | M10 3/8 NO NO

WIN| -




Filter holders for coffee machines

FILTER HOLDER CIMBALI
=]
v & 4 - #
& . & =
1 2 3 4 3 ]
1 1165306 | 5.5 mm | M10 | SCREW - A VITE 7 gr YES |CIMBALI 458-981-000 M21 - M30 - M31 - M32
2 1165307 | 5.5 mm | M10 | SCREW - A VITE | 14 gr YES |CIMBALI 458-980-000 M21 - M30 - M31 - M32
3 1165016 | 5.5 mm | M10 | SCREW - A VITE NO NO CIMBALI 458-159-007 M21 - M30 - M31 - M32
4 1165308 | 5.5 mm | M10 3/8 7 gr YES |CIMBALI 537-027-100|M24 - M28 - M29 - M30 - M31 - M32 - M39
5 1165309 | 5.5 mm | M10 3/8 14 gr YES |CIMBALI 537-027-200|M24 - M28 - M29 - M30 - M31 - M32 - M39
6 1165017 | 5.5 mm | M10 3/8 NO NO CIMBALI 537-027-200M24 - M28 - M29 - M30 - M31 - M32 - M39
6 1165065 | 6.2 mm | M10 Mle NO NO CIMBALI 457-355-007 M272008
FILTER HOLDER CONTI
1
1 1165019 | 7.4 mm | M12 3/8 NO YES CONTI -—-
2 1165020 | 7.4 mm | M12 3/8 NO YES CONTI ==
1165101 | 7.4 mm | M12 3/8 NO NO CONTI -—-
FILTER HOLDER DELONGHI
1 2 3
1165121 | 5 mm -—= -—= NO --- |DELONGHI 7313280779|ECOV310AZ - EC155 - EC300M

1165120 oo oo oo oo oo DELONGHI 534714 EC155 - EC300M
1165122 - - - - --- |DELONGHI 5313217311 ECOV310Az




Filter holders for coffee machines

FILTER HOLDER ECM

e

1 1165022 | 7 mm | M12 3/8 NO NO ECM ALL MODELS - TUTTI I MODELLI

FILTER HOLDER ELEKTRA

T P TerTi- |

1 B 6
1 1165071 6 mm | M12 YES [ELEKTRA 03436039+00526021/CLASSICBARLUME - MODERN - SIXTIES
2 1165072 6 mm | M12 YES ‘ELEKTRA 03435039+00526021/CLASSICBARLUME - MODERN - SIXTIES
3 1165073 6 mm | M12 YES ‘ELEKTRA 03434039+00526021| CLASSICBARLUME - KAPPA - MODERN
4 1165074 6 mm | M12 3/8 NO YES [ELEKTRA 03433039+00526021) CLASSICBARLUME - KAPPA - MODERN
5 1165070 6 mm | M12 3/8 NO NO ELEKTRA 02152021 ALL MODELS - TUTTI I MODELLI
6 1165007 | 5.5 mm | M8 oo NO NO ELEKTRA 00187021 MICROCASA
6 1165010 | 5.5 mm | M8 --- NO NO ELEKTRA 00187019 MICROCASA GOLD

FILTER HOLDER EXPOBAR

l,a’{r%':wg

3165001 6 mm | M12 3/8 YES YES |EXPOBAR 75001500/ALL MODELS - TUTTI I MODELLI
2 3165002 6 mm | M12 3/8 YES YES |EXPOBAR 75002500 ALL MODELS - TUTTI I MODELLI
1165061 | 6.3 mm | M12 3/8 NO NO |EXPOBAR 75000110/ALL MODELS - TUTTI I MODELLI




Filter holders for coffee machines

FILTER HOLDER FAEMA

1 ORIGINAL 2 DE‘.IGINP:.L 4 5 6
1 1165025 | 6.3 mm | SCREW - A VITE 3/8 YES YES |FAEMA 993711010 E61 - E61JUBILE'
2 1165024 | 6.3 mm | SCREW - A VITE 3/8 YES YES |FAEMA 993710010 E61 - E61JUBILE'
3 1165014 7 mm SCREW - A VITE 3/8 NO NO FAEMA E61 - E61JUBILE'
4 5014055 7 mm M10 3/8 6 gr YES |FAEMA 457889020 E91-E92-E97-E98-DUE-SMART
5 5014054 7 mm M10 3/8 12 gr YES |FAEMA 457888020 E91-E92-E97-E98-DUE-SMART
6 1165015 7 mm M10 3/8 NO NO FAEMA E91-E92-E97-E98-DUE-SMART
6 1165022 7 mm M12 3/8 NO NO FAEMA E91-E92-E97-E98-DUE-SMART
6 1165065 | 6.2 mm M10 Ml6 NO NO FAEMA 457355007 |DUESMART - ENOVA - E92ELITE - STYLEMA|
FILTER HOLDER FAEMA

=

1"’1‘? "?3"? ,"%

1 1165143 | 6.4 mm | M10 M1l6 NO YES |FAEMA 457899040 EMBLEMA
2 1165144 | 6.4 mm | M10 M16 NO YES |FAEMA 457898040 EMBLEMA
3 1165145 | 6.4 mm | M10 M16 NO YES |FAEMA 927705000 EMBLEMA
4 1165146 | 6.4 mm | M10 Ml6 NO YES |FAEMA 927706000 EMBLEMA
5 1165142 | 6.4 mm | M10 M1l6 NO NO |FAEMA 457355017|CARISMA - DUE SMART - EMBLEMA - ENOVA - E92 ELITE

FILTER HOLDER FIAMMA RST

1 1165064 | 6.3 mm | M12 3/8 NO NO FIAMMA 5.0.000.0657 ATLANTIC - MARINA - MINIBAR - PRESTIGE




Filter holders for coffee machines

FILTER HOLDER FIORENZATO CS

I 2. 3 4
1 1165040 | 7 mm | M12 3/8 7 gr YES |FIORENZATO CS A2200078ALL MODELS - TUTTI I MODELLI
2 1165042 | 7 mm | M12 3/8 14 gr YES |FIORENZATO CS A2200079|/ALL MODELS - TUTTI I MODELLI
3 1165022 | 7 mm | M12 3/8 NO NO FIORENZATO CS ALL MODELS - TUTTI I MODELLI
4 5058712 | 5.6 mm | M12 3/8 NO NO (FIORENZATO CS A2200082 PIAZZA SAN MARCO

FILTER HOLDER FUTURMAT

—
et 2 rFP’_.

’f\

l 2
1 1165022 7 mm | M12 3/8 NO NO |FUTURMAT 11252202 |ALL MODELS - TUTTI I MODELLI
2 1165036 | 6.5 mm | M8 3/8 NO NO FUTURMAT 08103510 ALL MODELS - TUTTI I MODELLI
3 5057230 | 6.5 mm | M12 3/8 NO YES |FUTURMAT 08485800 NEW MODELS - NUOVI MODELLI
4 5034110 | 6.5 mm | M12 3/8 NO YES |FUTURMAT 08485900 NEW MODELS - NUOVI MODELLI
5 5055624 | 6.5 mm | M12 3/8 NO NO |FUTURMAT 08480050 NEW MODELS - NUOVI MODELLI

FILTER HOLDER GAGGIA

5 4 5 6

1 1165109 | 7 mm M10 3/8 NO NO |GAGGIA 8027085000 DECO - D90 - E90 - GD - GE - LCD - XD - XE
2 1165108 | 7 mm M10 3/8 NO NO |GAGGIA 8027086000DECO - D90 - E90 - GD - GE - LCD - XD - XE
3 1165026 | 7 mm M10 3/8 NO NO |GAGGIA WGA26G0104DECO - D90 - E90 - GD - GE - LCD - XD - XE
4 1165027 | 7 mm | SCREW - A VITE 3/8 NO YES GAGGIA DY0004/A BABY

5 5059488 | 7 mm | SCREW - A VITE 3/8 NO NO |GAGGIA 6301002000 BABY

6 5047148 | 7 mm | SCREW - A VITE 3/8 NO NO |GAGGIA 8332018000 NEWBABY06




Filter holders for coffee machines

FILTER HOLDER GAGGIA SPAGNA

L
1 & 3 2 &
1 1165022 | 7 mm | M12 3/8 NO NO |GAGGIA SPAGNA 11252202|ALL MODELS - TUTTI I MODELLI
2 1165036 | 6.5 mm | M8 3/8 NO NO |GAGGIA SPAGNA 08103510|ALL MODELS - TUTTI I MODELLI
3 5057230 | 6.5 mm | M12 3/8 NO YES |GAGGIA SPAGNA 08485800 NEW MODELS - NUOVI MODELLI
4 5034110 | 6 mm | M12 3/8 NO YES |GAGGIA SPAGNA 08485900/ NEW MODELS - NUOVI MODELLI
5 5055624 | 6 mm | M12 3/8 NO NO |GAGGIA SPAGNA 08480050 NEW MODELS - NUOVI MODELLI
1 ::jl
5 ’ < i-‘j -
1 2. 3

1165040 | 7 mm | M12 3/8 7 gr YES GRIMAC A2200078 Gll

1165042 | 7 mm | M12 3/8 14 gr YES GRIMAC A2200079 Gll

1165022 | 7 mm | M12 3/8 NO NO |GRIMAC 1200100021-GR767|ZOLAI - ZOLAII - TEN - TWENTY - ECLISSE - Gl1l

FILTER HOLDER ITALCREM

ﬂ:’é
£ -
F 3 4 5

1 1165022 7 mm | M12 3/8 NO NO ITALCREM 11252202|ALL MODELS - TUTTI I MODELLI
2 1165036 | 6.5 mm | M8 3/8 NO NO ITALCREM 08103510 ALL MODELS - TUTTI I MODELLI
3 5057230 | 6.5 mm | M12 3/8 NO YES |ITALCREM 08485800 NEW MODELS - NUOVI MODELLI
4 5034110 | 6.5 mm | M12 3/8 NO YES |ITALCREM 08485900 NEW MODELS - NUOVI MODELLI
5 5055624 | 6.5 mm | M12 3/8 NO NO ITALCREM 08480050 NEW MODELS - NUOVI MODELLI




Filter holders for coffee machines

FILTER HOLDER LAVAZZA

1 1165087 | 7 mm | --- - - --- |LAVAZZA 10064393 EP850

FILTER HOLDER MAGISTER

5036375 | 6.3 mm | M12 3/8 NO NO MAGISTER 210029 |ALL MODELS - TUTTI I MODELLI
5022581 [ 6.3 mm | M12 3/8 NO NO MAGISTER 210030 |ALL MODELS - TUTTI I MODELLI
1165061 | 6.3 mm | M12 3/8 NO NO MAGISTER ALL MODELS - TUTTI I MODELLI
T -, - g
T h e, ¢ o
t - - -
1 2 3 4 5
1 1165022 7 mm M12 3/8 NO NO MAIRALI 11252202|ALL MODELS - TUTTI I MODELLI
2 1165036 | 6.5 mm | M8 3/8 NO NO MAIRALI 08103510/ALL MODELS - TUTTI I MODELLI
3 5057230 | 6.5 mm | M12 3/8 NO YES |MAIRALI 08485800/ NEW MODELS - NUOVI MODELLI
4 5034110 | 6.5 mm | M12 3/8 NO YES |MAIRALI 08485900/ NEW MODELS - NUOVI MODELLI
5 5055624 | 6.5 mm | M12 3/8 NO NO MAIRALI 08480050/ NEW MODELS - NUOVI MODELLI




r\:‘/
% Filter holders for coffee machines

FILTER HOLDER MARCFI-ANCAS

1 2
1 1165066 | 8 mm | SCREW - A VITE 3/8 NO NO |MARCFI-ANCAS -
2 1165067 | 8 mm | SCREW - A VITE 3/8 NO NO |MARCFI-ANCAS oo

FILTER HOLDER MARZOCCO

v -

E
1
1 |1165088 (6.8 mm| M12 | 3/8 NO NO MARZOCCO |ALL MODELS - TUTTI I MODELLI
FILTER HOLDER MCE
1 2 3
1 1165082 | 6.5 mm | M12 3/8 7 gr YES MCE START
1165083 | 6.5 mm | M12 3/8 14 gr YES MCE START

3 1165081 | 6.5 mm | M12 3/8 NO NO |MCE 27311010 START




Filter holders for coffee machines

FILTER HOLDER NUOVA SIMONELLI

ﬁ’—?tﬁﬁ; =

4

1165045 | 7 mm | M10 3/8 6 gr YES |NUOVA SIMONELLI 98005024 APPIA - AURELIA - AURELIAII - PREMIER - PROGRAM
1165055 | 7 mm | M10 3/8 12 gr YES |NUOVA SIMONELLI 98005024 APPIA - AURELIA - AURELIAII - PREMIER - PROGRAM‘
1165012 | 7 mm | M10 3/8 NO NO |NUOVA SIMONELLI 06200092|APPIA - AURELIA - AURELIAII - PREMIER - PROGRAM‘

FILTER HOLDER ORCHESTRALE

1 1165082 | 6.5 mm | M12 3/8 7 gr YES |ORCHESTRALE D27311054| ETNICA-PHONICA
2 1165083 | 6.5 mm | M12 3/8 14 gr YES |ORCHESTRALE D27311055 ETNICA-PHONICA
3 1165081 | 6.5 mm | M12 3/8 NO NO |ORCHESTRALE D27311010| ETNICA-PHONICA

FILTER HOLDER PAVONI

1 1165023 | 4 mm | M12 3/8 NO NO PAVONI 395305R EUROPICCOLA - PROFESSIONAL

2 1165018 | 4 mm | M12 3/8 NO YES PAVONI 395307R |EUROPICCOLA - PROFESSIONAL - STRADIVARI
3 1165043 - - - YES --- |PAVONI 0P226551650 ESPRESSOCAPPUCCINO - ESPRESSOSI

4 1165044 o= o= o= YES == PAVONI 226551850 ESPRESSO - ESPRESSOPLUS - EUROBAR

5 1165041 | 5.6 mm | M12 3/8 NO NO PAVONI 31109241 ALL MODELS - TUTTI I MODELLI




Filter holders for coffee machines

FILTER HOLDER PROMAC

1

1 1165046 | 6 mm | SCREW - A VITE 3/8 NO NO PROMAC 20112016|GREEN - COMPACT - CLUB

FILTER HOLDER RANCILIO

I 2
1 1160521 | 6 mm | SCREW - A VITE 3/8 NO YES |RANCILIO 10071110 ALL MODELS - TUTTI I MODELLI
2 1160545 | 6 mm | SCREW - A VITE 3/8 NO YES |RANCILIO 10071120 ALL MODELS - TUTTI I MODELLI
3 1165046 | 6 mm | SCREW - A VITE 3/8 NO NO |RANCILIO 20112011 |ALL MODELS - TUTTI I MODELLI
4 1165030 | 6 mm | SCREW - A VITE 3/8 NO YES |RANCILIO 10070108 SILVIA

FILTER HOLDER RENEKA

-

-

il @ -

L=
1 2 3
1165061 | 6.3 mm | M12 3/8 NO NO |RENEKA AT7479930 ATALANTE - AMICI
2 1165064 | 6.3 mm | M12 3/8 NO NO RENEKA 9215312 MOSAIC

1165048 | 9.5 mm | M10 3/8 NO NO RENEKA 9004934 |[LC - VIVA - VIVAS - XLPALLAS




Filter holders for coffee machines

FILTER HOLDER ROYAL

1 . 3 4

1 1165300 | 6.3 mm | M12 3/8 7 gr YES ROYAL ALL MODELS - TUTTI I MODELLI
2 1165301 | 6.3 mm | M12 3/8 14 gr YES ROYAL ALL MODELS - TUTTI I MODELLI
3 1165061 | 6.3 mm | M12 3/8 NO NO |ROYAL 4650100|ALL MODELS - TUTTI I MODELLI
4 1165064 | 6.3 mm | M12 3/8 NO NO |ROYAL 4650108/ALL MODELS - TUTTI I MODELLI

FILTER HOLDER SAB ITALIA

1165068 | 6.3 mm | M10 3/8 YES YES |SAB ITALIA SVTMP01l4|ELLIPSE - E96 - JOLLY - MODERNA|
1165069 | 6.3 mm | M10 3/8 YES YES |SAB ITALIA SVTMPO1l5|ELLIPSE - E96 - JOLLY - MODERNA
. G § =t s
| 2 3 4 3

1 1165109 | 7 mm | M10 3/8 NO NO SAECO WGA8001059000 AROMA

2 1165108 | 7 mm | M10 3/8 NO NO SAECO WGA8001060000 AROMA

3 1165026 | 7 mm M10 3/8 NO NO SAECO WGA26G0104 AROMA

4 1165043 == == === YES === SAECO 11008490 AROMA - GRANCREMA - MAGICCAPPUCCINO|

5 1165044 -— -— -— YES -—= SAECO 226551850 AROMA - MAGIC




Filter holders for coffee machines

FILTER HOLDER SAN MARCO

—
1 1165080 mm | M10 3/8 NO NO |[SAN MARCO 400154(105 - 100 - 95 - 85 - LEVA
2 1165021 | 7.4 mm | M10 3/8 NO NO |[SAN MARCO 400154(105 - 100 - 95 - 85 - LEVA
3 1165051 mm | M10 3/8 NO NO |SAN MARCO 502034|105 - 100 - 95 - 85 - LEVA
4 1160024 mm | M10 3/8 NO NO |[SAN MARCO 502750 100 - 105 - 105 NEW
& e
‘ H _—
1 &
1 1165129 | 6.5 mm | M12 3/8 NO NO SANREMO 10052030|AMALFI - CAPRI - MILANO LX - VENEZIA
2 1165134 | 6.3 mm | M12 3/8 NO NO |[SANREMO 14052034 TORINO - VERONA - ZOE

FILTER HOLDER SCALA

1
1 1165022 | 7 mm | M12 3/8 NO NO SCALA C-0503 BUTTERFLY - CARMEN
2 5038881 | 6.3 mm | M12 3/8 NO YES |SCALA C-0531A oo
3 5038882 | 6.3 mm | M12 3/8 NO YES |SCALA C-0532A -—=
4 1165134 | 6.3 mm | M12 3/8 NO NO SCALA -—=




—F =T W

Filter holders for coffee machines

FILTER HOLDER SPAZIALE

nﬁ?

4

1 1165090 | 6 mm | M12x1.5 3/8 7 gr YES |SPAZIALE 02891 ALL MODELS - TUTTI I MODELLI
2 1165091 | 6 mm | M12x1.5 3/8 14 gr YES |SPAZIALE 02891 ALL MODELS - TUTTI I MODELLI
3 1165057 | 6 mm | M12x1.5 3/8 NO NO SPAZIALE 02891 ALL MODELS - TUTTI I MODELLI
4 1165056 | 6 mm M12 3/8 NO NO SPAZIALE ALL MODELS - TUTTI I MODELLI

FILTER HOLDER UNIC

1 5054501 | 6.8 mm | M12

3/8

YES

YES UNIC 33131 -—-

1

FILTER HOLDER VFA

t-ﬁg

1165022 | 7 mm | M12

3/8




Filter holders for coffee machines

FILTER HOLDER VIBIEMME

= — : S .
’?’?’?’{{ﬂvhﬁ:
1 2 i 4 5

Photo | LF Code | Wings | Knob | Spouts | Filter |Spring Suitable for For machine model
1 1165124 | 5.5 mm | M10 3/8 6 gr YES |VIBIEMME ASPORTN1TBMON|ALL MODELS - TUTTI I MODELLI
2 1165125 | 5.5 mm | M10 3/8 12 gr YES |VIBIEMME ASPORTN2TBMONALL MODELS - TUTTI I MODELLI
3 1165126 | 5.5 mm | M10 3/8 7 gr YES |VIBIEMME ASPORTN1TAMONALL MODELS - TUTTI I MODELLI
4 1165127 | 5.5 mm | M10 3/8 14 gr YES |VIBIEMME ASPORTN2TAMON|ALL MODELS - TUTTI I MODELLI
5 1165063 | 5.5 mm | M10 3/8 NO NO VIBIEMME PORTTN ALL MODELS - TUTTI I MODELLI
6 1165123 | 5.5 mm | M12 3/8 NO NO |VIBIEMME PORTTNLEVAMAN REPLICA AL

FILTER HOLDER VICTORIA ARDUINO

P PP U J-

Photo | LF Code | Wings | Knob | Spouts | Filter |Spring Suitable for For machine model

1 1165045 | 7 mm | M10 3/8 6 gr YES |VICTORIA ARDUINO 98005024 VENUS FAMILY
2 1165055 | 7 mm | M10 3/8 12 gr YES |VICTORIA ARDUINO 98005024 VENUS FAMILY
3 1165094 | 7 mm | M10 3/8 7 gr YES |VICTORIA ARDUINO 98050023 ADONIS
4 1165095 | 7 mm | M10 3/8 14 gr YES |VICTORIA ARDUINO 98050024 ADONIS
5 1165012 | 7 mm | M10 3/8 NO NO |VICTORIA ARDUINO 06200092 ADONIS

FILTER HOLDER VISACREM

ﬂﬁ Q’? ?\g

l 2 2
Photo | LF Code | Wings |Knob | Spouts | Filter |Spring Suitable for For machine model
1 1165022 7 mm M12 3/8 NO NO VISACREM 11252202 ALL MODELS - TUTTI I MODELLI
2 1165036 | 6.5 mm | M8 3/8 NO NO VISACREM 08103510 ALL MODELS - TUTTI I MODELLI
3 5057230 | 6.5 mm | M12 3/8 NO YES |VISACREM 08485800| NEW MODELS - NUOVI MODELLI
4 5034110 | 6.5 mm | M12 3/8 NO YES |VISACREM 08485900 NEW MODELS - NUOVI MODELLI
5 5055624 | 6.5 mm | M12 3/8 NO NO VISACREM 08480050 NEW MODELS - NUOVI MODELLI




Filter holders for coffee machines

FILTER HOLDER WEGA

o —
¥ ¥ ‘ T fws' )
1 ORIGIMNAL & 3 ORIGIHNAL 4 o

Photo | LF Code | Wings | Knob | Spouts | Filter [Spring| Suitable for |For machine model

1 1165076 | 7 mm | M12 3/8 NO NO WEGA WY27311056 CONCEPT52

2 1165116 | 7 mm | M12 3/8 NO NO WEGA CONCEPT52

3 1165079 | 7 mm | M12 3/8 NO NO |WEGA WY27311057 CONCEPT52

4 1165115 | 7 mm | M12 3/8 NO NO WEGA CONCEPT52

5 1165114 | 7 mm | M12 3/8 NO NO WEGA CONCEPT52

FILTER HOLDERS CIMBALI

o” /*fo" /“' &

\

&
Photo | LF Code | Wings | Knob | Spouts | Filter |Spring Suitable for For machine model
1 1165147 | 6.5 mm | M10 M16 NO YES |CIMBALI 457-891-020|M24 - M39 - M39GT
2 1165148 | 6.5 mm | M10 Mlé NO YES |CIMBALI 957-702-010M24 - M39 - M39GT
3 1165149 | 6.5 mm | M10 Mlé NO YES |CIMBALI 457-891-020 M24 - M39 - M39GT
4 1165150 | 6.5 mm | M10 M16 NO YES |CIMBALI 957-702-010|M24 - M39 - M39GT
5 1165065 | 6.5 mm | M10 Ml6 NO NO |CIMBALI 457-355-007 /M24 - M39 - M39GT
6 1165142 | 6.5 mm | M10 Mlé NO NO |CIMBALI 457-355-007 M27 2008
Foiil "'-i‘ur o
3 F oW
f fF 3
1 2 3
Photo | LF Code | Wings | Knob | Spouts | Filter |Spring Suitable for For machine model
1 7107488 | 8.2 mm | M10 3/8 NO NO DALLA CORTE A-MC-0003 EVOLUTION
2 7107489 | 8.2 mm | M10 3/8 NO NO DALLA CORTE A-MC-0004 EVOLUTION

3 1165133 [ 8.2 mm | M10 3/8 NO NO |DALLA CORTE B-MC-0037 EVOLUTION




Filter holders for coffee machines

FILTER HOLDERS ECM MANUFACTURE

— <»
=T y

2
1165137 | 5.5 mm | M12 3/8 NO YES |ECM MANUFACTURE 89424|CLASSIKA II - ELEKTRONIKA II PROFI - ELEKTRONIKA PROFI
1165138 | 5.5 mm | M12 3/8 NO YES |ECM MANUFACTURE 89425|CLASSIKA II - ELEKTRONIKA II PROFI - ELEKTRONIKA PROFI

FILTER HOLDERS ISOMAC

@l

1 2
1165141 | 7.3 mm | M12 3/8 NO YES |ISOMAC IS000711 MAVERICK
1165061 | 6.3 mm | M12 3/8 NO NO ISOMAC IS000740 MILLENNIUM - MONDIALE - TEA - VENUS - ZAFFIRO

FILTER HOLDERS QUICK MILL

p' _ '

%

I 2. 3 4
1 5036375 | 6.3 mm | M12 3/8 NO NO |QUICK MILL OTO0970PF1 0980 ANDREJA
2 5022581 | 6.3 mm | M12 3/8 NO NO |QUICK MILL OT0970PF2 0980 ANDREJA
3 1165061 | 6.3 mm | M12 3/8 NO NO QUICK MILL 0980 ANDREJA
4 1165139 | 10 mm | M12 3/8 YES NO |QUICK MILL OTO0800PFC|03035 PEGASO - 0820 - 0835




Filter holders for coffee machines

FILTER-HOLDERS FOR COFFEE/BARLEY PODS

1165162 BEZZERA - BFC - BRASILIA - BRUGNETTI AURORA - CONTI| 6.5 mm
1165162 | EXPOBAR - FIORENZATO CS - GRIMAC - RANCILIO - ROYAL| 6.5 mm
1165162 SANREMO - SCALA - VIBIEMME - WEGA 6.5 mm
1165163 CIMBALI 5.5 mm
1165032 FAEMA 6.3 mm
1165165 SAN MARCO 7.4 mm
1165164 SPAZIALE 6.0 mm
1 g
1 1165135 | 7 mm | --- 3/8 6 gr YES | FRACINO FC1l05CH |BAMBINO - CONTEMPO - HEAVENLY - ROMANO

N

1165136 | 7 mm | —-- 3/8 14 gr YES |FRACINO FC105CHA|BAMBINO - CONTEMPO - HEAVENLY - ROMANO




The data herewith contained may change without notice and LF SpA cannot be
held responsible for possible errors stated or resulting by the use of this document.
All rights reserved. No part of this publication may be reproduced without written

permission by LF SpA.

Distributing Components, Spare Parts & Accessories
in original quality worldwide

LF SpA HEADQUARTERS

via Voltri, 80 - 47522 Cesena (FC) ITALY

Tel. +390547 34 11 11 - Fax +390547 34 1110

www Ifricambi724.it - www.lfricambi724.mobi - info@lfricambi.it
Export Dept.: Tel.+39 0547 34 11 50 - Fax: +390547 34 11 55
www.lfspareparts724.com - www.lfspareparts724.mobi
export@lfspareparts.com

EPGC Sas FRANCE

13, Rue des Forts - 59960 Neuville en Ferrain
Tel. +33 (0)3 2025 06 21
Fax+33(0)320253412

WWW.epgc.com

www.epgc724.mobi

epgc@epgc.com

LF GmbH GERMANY

Junkersstrasse, 1 - D-82178 Puchheim - Miinchen
Tel. +49 89 8945 78 66

Fax+498989457888

www.lfersatzteile724.de
www.lfersatzteile724.mobi
info@lfersatzteile.de

LF China REPUBLIC OF CHINA

Room 403, No.2, Huadu Mansion, Lane 422, Huanghua Rd.
Minhang Dist. - 201103 Shanghai

Tel. +86 (0)21 33 5366 31

Fax+86 (0)2133 53 66 32

www.lfspareparts724.com

www.lfspareparts724.mobi

china@lfspareparts.com

@ oooLrrussianFEDERATION

Ul. Anatoliya Zhivova, 8 - office 1- 123100 Moscow
Tel. +7 4992598575

Fax+7 4957252653

www.Ifspareparts724.ru
www.lfspareparts724.mobi

info@lfspareparts.ru

LF Repuestos Horeca 5.L.U. SPAIN

Calle Ciudad Real, 10 - 45517 Escalonilla - Toledo
Tel. +34 91477 91 00

Fax +34 914779081
www.lfrepuestos-horeca724.es
www.lfrepuestos724.mobi
info@lfrepuestos.es

LF SpA Cesena (IT) Swiss Branch Steinhausen SWITZERLAND
Sennweidstrasse, 45 - CH-6312 Steinhausen

Tel. +41(0)41 760 15 80-1

Fax+41(0)41 760 15 85

www.lfersatzteile724.ch

www.lfersatzteilech724.mobi

info@lfersatzteile.ch

LF Spare Parts Ltd. UNITED KINGDOM

A10a Lakeside Business Park, Broadway Lane
South Cerney, Gloucestershire GL7 5XL

Tel. +44(0)1285 86 16 25

Fax +44 (01285 86 39 49
www.lfspareparts724.co.uk
www.Ifspareparts724.mobi
info@lfspareparts.co.uk

AUSTRALIA AND NEW ZEALAND
www Ifspareparts724.com
andrea.calvio@|fspareparts.com

AUSTRIA
www Ifspareparts724.at
ludwig.neier@lferstazteile at

BALKAN COUNTRIES
www Ifspareparts724.com
matija.ramov@lfspareparts.com

BALTIC COUNTRIES
www Ifspareparts724.com
inarasilina@lfspareparts.com

CENTRAL AND EASTERN EUROPE
www Ifspareparts724.cz
jiri kremla@lfspareparts.cz

DENMARK
www.Ifspareparts724.dk
michael leth@|fspareparts.com

SOUTH KOREA
wwwlfspareparts724.com
fabio.doni@lfspareparts.com

TURKEY
www lfyedekparca724.com
basar.ergun@lfyedekparca.com

USA AND CANADA
www.lfspareparts724.us
sauro.dallaglio@lfspareparts.us
howard truitt@lfspareparts.us



